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You have been called for the written test based on the online data fumished by you in the web application.
If you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.
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4.  WAF T HAT 04 3iF g AR TAF T Iea FAT UF 3iF FT S0 |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5.  WRAT % e e % AT IeleT MTANR Sec-qfFeahr & mea|
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6.  3MUhl, Ica-qRecarT # fT 1T I F TR, Areh/HTel TATET & diel TS5 U | INTANR 3eer-
Qi1 & Gt JHfaer 1 3ifhc X FEY Scck 7 T FAT B

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen as per the instructions given in the answer sheet.
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10.

1.

12.

13.

14.

15.

maﬁ%\ﬁﬁﬂﬁﬁmmmmaﬂnﬂmmmwﬁﬁwmwmml

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the space
provided.

ma-mﬁmmwwwﬁﬁl

Enter your Name and Rofl Number correctly in the question booklet.

muﬂmm-gﬁawﬁmﬁqﬁmamﬁmm$ﬁamgﬁwﬁ€rﬁmml
Al entries in the OMR answer sheet should be with blue/black ball point pen only.

e afer 3 Friere Ay 3ATeufaY & &1 JTae gler-Eehe/PICIan T geeR HTT dIee

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

T, Al e ael B TR Aet & el

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be
allowed inside the written test hall.

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand
over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

- 15t 37 T T W €

The question booklet can be retained by the candidate.

e & W EE & G 3rea Rt o TR gel Siger Y AT A £

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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NOT TF F T & T ... qE

Dressing of a grinding wheel refers to

() TFF Fad FRITATE & ?:W/Restoring the cutting action of the wheel
(b) TR & HTHcF=I/Shaping of the wheel

(c) TSh Y 3T8T & TTY Uehal dTel/Making the wheel concentric with the axis
(d) % I FEAa/Changing the wheel

wafta g F @R W & dec MY F fow guer ao aa@= S afka.... &

The process of producing a flat seat for a bolt head at the opening of a drilled hole is

(a) ST @fdEorCounter boring (b)  ufar fAsTst/Counter sinking
) fBeatsi/Reaming (d) g F7@/Spot facing

IHR & AftwaH IR Fgean Ao & 9T F R ;. gl AT g

Difference between the maximum and the minimum limit of size is known as

(a) faTE=/Deviation (b) "EIA/Tolerance
(c) &H/Fit (d) =afd=lInterference

28 + 0.5 THUHE w9 AINART g & v gegar .81

For a hole designated as 28 + 0.5 mm, the tolerance is

(a) 0.5 UHTA/mm (b) 1 THATHA/mm
(c) 28 UATH/mm (d) 28.5 THUR/mm

T g 3raRd yomely A, 8id ‘W’ & fov A R ... gl

In a hole basis system, the lower deviation for the hole ‘H’ is

(a) 0 TAUA/mm (b) 0.1TATA/mm (¢) 1 TAUH/mm (d 0.01 THTA/mm

9es & AT 1 WEAS T ... HET AT &
The depth of fusion of a weld is known as

(a) SUTIA/Penetration (b) Wﬁ;E'IMolten pool
(c) HAIT/Fusion (d) FYU/Drag

Ugell 10 WTHfdF A3 FT 6 ........ g

Sum of first 10 natural numbers is
(a) 55 (b) 10 (¢ 210 (dy 110
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10.

1.

12.

13.

mewwwﬁm#mmaﬂ ........ FgT AT &l

The operation of producing patterns on cylindrical external surface by pressing a tool is known as
(a) dt=/Boring (b)  @ciel/Turning
(c) FeleT/Knurling d TR del/Taper turning

A I o B Y OFE g

The shape of a rasp cut file is

(2) TR/ Triangular (b) FeI/Flat
(¢) 37T ASA/Half round (d  @el/Round

et e e & v 39 e F weT R ST g

This punch is used for making witness marks
(a) 60° FrRfSfEa/60° Prick Punch (b)  30° FrRf>TEA/30° Prick Punch
(c) e fBRT/Centre Punch (d)  90° shg T¥RAG790° Centre Punch

300 FRAHICT SiaTE & U AT AETHIE 3 F 375 &ict §1 5013 e i Fefferor 3R Jerm T &

A standard hacksaw blade of 300mm length has 375 teeth. What is the classification and type of set
of the blade?

(a) HEIH, dT e/ Medium, Wave set (b) HEIH, FaT Ae/Medium, Staggered set
(c) Hq&H, Hiakd A</Fine, Staggered set  (d)  q&H, T AT/Fine, Wave set

seq J97 SEAIE AU 324 APRIR FiF H Th FHel a&q H Fea & fAw gor 3nged
(mwmmm|ﬁwm$ﬁvmwmaﬁﬂaw3sm
ufa faeeg|

Find out the speed setting (rpm) for a high speed steel drill D24 to cut a work piece of phosphor
bronze. Maximum cutting speed with HSS for Phosphor Bronze is 35 m/min

(a) 400 (b) 200 (c) 1000 d 600

60°ﬁ§aﬂwa?mmwa?ﬁ$ra%m395°%,mmﬁaﬂwﬁmmavm

What is the clearance angle if the angle of inclination of a chisel, with point angle 60°, is 39.5°7

@ 15° b 9.5°
(c) 20.5° (d) A\t A S 3t s1Ei/mone of the three
4 1393 & 1406



14,

15.

16.

17.

18.

93 eyl & agel el & vaue & fv uw gaued A 1 95 W)
Choose a drilling machine for drilling multiple holes of larger diameters

(a) gmé’r Sogae=T #2M=T/Sensitive bench drilling machine

(b) TAF 9dYe ALMNA/Pillar drilling machine

(c) icTe AT #2MT/Column drilling machine

(d) 3T gt AMA/Radial drilling machine

100-125 fAcifiey W & el Al gEAAd & 1F o3 F A AN & AT wgad
foram STar ¥ R A 16.5 @R ST HUR AT F ST HTAA0T 3720,
28 UT| BF F AW fhcelt grem?

A Metric Outside micrometer of range 100-125 mm is used to measure the diameter of a rod. Barrel
graduation showed 16.5 and the thimble graduation in line with the barrel datum line was 28. What
is the diameter of the rod?

(@) 16.78 AT/ mm (b)  16.64 AHTEY/mm
(c) 116.64 FANHY/mm @ 116.78 fAeHey/mm

Carbon content in wrought iron is
(a) 0.2-0.3% (b)y 0.3-0.8% (¢} 0.02-0.03% (@ 0.1-0.2%

HgAT, 3e=Ta AT, aftia deaar ared Fe & fow i gidae & Afddva Hor-ams
N URSHd A g FTAT & FOAT IUAR HY ... Fgl Al g

The heat treatment of steel to obtain softness, improved machinability, increased ductility, to relieve
internal stresses and to refine the grain size is called

(a) 3ATclel/Annealing (b) Y—=T/Tempering
(c) SATSEIBEFOT/Nitriding (d) HSTT/Hardening

AT A9 R HET Fed ST H ... 89T &

At room temperature, plain carbon steel contains

(& B3R ﬁﬁaR/Ferrite and cementite

(b) FBE AR QFI‘IEE/Ferrite and pearlite

(c) daige HR f@#Fese/Pearlite and Cementite

(d) Hge, RAdFeEe 3R IATEe /Ferrite, Cementite and Pearlite

5 1393 & 1406



19.

20,

21.

22,

23.

24,

25.

Srfafaa & ¥ ', AU T A THS IGHOT A4 B

One of the following is not a work holding accessory of a lathe

(2) AW UfZeH/Face Plate
(c) WA@Y 4fgFhl/Catch Plate

T3 F 2 fa@a 7 #i9 Ry sy | AaiRa &xar

Which of the following controls the chip geometry while turning?

(a) 3TUEY PIUT/Relief Angle
(c) e FITT/Rake Angle

30H7/g6 & &7 # FART e .........
A fit designated as 30H7/g6 is a

(a) 3TTf fOFe/Clearance fit
(c) =afAwoT Fe/Interference fit

(b)
(d)

(b)
(d)

(b)
G

8%/ Mandrel

F-el TH/Self Centring Chuck

YA SIT/Approach angle
3E9RIf FUT/Clearance angle

HAHACT e/ Transition fit
eI fhe/Tolerance fit

IR g &1 IR 25 0002 Y g IR 25 OO R A SR Safasor.. &

If the hole size is 25 T0000*%021 & chaft size is 25 *+0.02240.035 44 minimum interference is

(@) 0.035 RAAFACTYmm
(¢) 0.021 AR/ mm

I FIT T & 3e9 Fad $ GlsE Hr

(b)
(d)

.........

0.001 AT mm
0.022 fAeHAeYmm

The width of cut produced in gas cutting operation is known as

(a) dAA/Gouging

(b) FP/Kerf

(©)

Ygui/Bevel

(d)

EﬁUT/Drag

3feger aRonfas & ... # oRafda &= F v ggea & s &

A welding transformer is used to convert the

(a) AW a&q oS & v, afesar FTATS/D.C. main supply into an A.C. welding supply

(b) . FA=A gears & .4 afesT Foas/A.C. main supply into a D.C. welding supply
(c) wH. qEY aears s v afeger JCATS/A.C. main supply into an A.C. welding supply
(d) A AT g &1 3., AfeEer Ioars/D.C. main supply to D.C. welding supply

FIS F RO U gaer HET S geX & |1y SAlST A g, 39

The narrow and thin part of the file which is connected to the handle is known as

(a) FewTip

(b) Toig/Point

©

¢3T/Tang

(d)

HI/Edge

1393 & 1406



26.

27.

28.

29,

30.

31.

32.

Fgd & AR e & A #ia ot Het Seila v wilda Agr 82
Which of the following parts in file is not hardened and tempered?

(a) TTST/Heel (b) FR/Edge () &MTang (d) &s/Body

i@ & ey ST AT ITFIOT HT IETEIT HidA-T7 §7

Which of the following is an example of indirect angle measuring tool?

(a) WaUT Ui¢FeI/Bevel protractor (b)  UQT IST/Bevel gauge
(c) IS Ve/Combination set (d) TREeTeT Sde/Marking table

AT wAFaa e # 3BT I § JFaH  F A Basr & guEsT g §2

Three unbiased coins are tossed. What is the probability of getting at most two heads?
(a) 3/4 (b) 1/4 (cy 3/8 (d 7/8

S @rar F AU Y €98 J% A0 SHA . FET ST g

The spiral grooves which run to the length of the drill are known as

(a) T3/Body (b) Tag/Point (c)  We[c/Flutes (d) &M/Tang

ftfaf@a # ... g8 FAd delg Al GEH UNOT A IURY AT Yshed & fA0 gy fowar

ST g
Which of the following cuiting oil is used to prevent ‘clog’ in fine grinding?

(a) & aa/Soluble oil (b) Tiase faerT Ad/Synthetic soluble oil
(c) STol/Water (d) @fast del/Mineral oil

fsrfof@a & ... ag & ¢ O 1 | word | @ & T gged fRar S g

Which of the following chisel is used for squaring material at the corners?

(a) T9Er BAV/Flat chisel (b)  SITer Fall/Web chisel
() ER=® fﬁ?j Bell/Diamond point chisel (@ fod% Feg F/Cross—cut chisel

T YAus 9 H 3 AR 3R Fda 33 & S &1 0T gl

In a drill bit the angle between the chisel edge and the cutting lip is known as
(@) Il FIV/Web angle (b)  3HISE HIUI/Lip angle
(c) eI HIUT/Rake angle (d)  Ssfolell HIUVHelix angle

7 1393 & 1406



33.

34.

35.

36.

37.

38.

One degree is

(@) 60 AH3/seconds (b) 60 fA=TE/minutes
(c) 100¥FS/seconds (d) 100 fAsE/minutes

3 A% T HFAT 1000 7/3 3R =ar| 20 AR &, a1 3T Fae fhae &7

If the volume of a cone is 1000 = /3 and the diameter is 20 mm, then the height is?

(a) 10 fAeiHIY/mm (b) 20 FNHRY/mm

(c) 200 = fA=IeY/mm (d) 400 z FAFEY/mm

AT ITHROT F I G H GGFT TH F IFR ... gl

The type of thread used in lead screw of machine tools is

(a) % Y3\/Buttress thread (b) & gE/Vee Thread

(¢c) 3TTECT IBV/Saw tooth Thread (d) WA TN/ Trapezoidal thread
yud ¢, gfad &7 aur afr T F F I £

The first tap, second tap and bottoming tap differ in their

(a) Y3 TR/ Thread size (b)  =STT e/ Thread pitch

(c) CUT AZ/Taper lead (d) g3 & YFR/Type of thread

farfaf@d & O FY UF AceT 13T WISH Fgl Il §?
Which of the following is known as fish back file?

(2) RoFeT FEa/Riffler file (b) A G FIEE/Mill saw file
(c) TEHT T/ Tinker’s file (d)  SPITHT BISH/Crossing file

A sheet metal worker’s anvil is known as

(a) TeT/Stake (b) gUtsVHammer
() D=A/Chisel (d) T&T9/Snips

8 1393 & 1406



39.

40.

41,

42.

43.

44,

i@ & ... & 3eq fovdid Frvs 7 BRa S g
Which of the following welding is done in high vacuum chamber?
(a) Sﬁﬁh?a@ﬁlﬂectmn Beam Welding

b) 3HTH des1/Arc welding

(c) ook desa/Laser welding

(d) &S ATSA/TIG welding

memﬁgtﬁwmmam@m)mm#mwm ...... gl

Angle between the top face of cutting point and normal (90°) to the work surface at the cutting edge

(a) el PIU/Rake angle (b)  31E9eff HIUT/Clearance Angle
(¢) I Inclination (d fdgwIoT/Point Angle

AR e ... ¥ FROT ger &

Tool chatter is caused by

(a) THENR JTTeAT HI0T/Smaller clearance angle

(b) 3Ot 3ETRAT FIUT/Excessive clearance angle
(c) 3T & FIUT/High Rake angle

(d) wEN el FIUT/Smaller rake angle

Fed FeA SEE! B 7RG wa F A god HART 1 9@ R S g
High carbon steels are machined using tools having

(a) Y GeIcHS & PIUT/Small positive rake angle

(b) & YellcHh e FIVT/Large positive rake angle

(c) Y Y& P01/ Zero rake angle

(d) FOTcH® Yehel FHIUT/Negative rake angle

[ dx @ AR ... ¥

1+x8 )
The value of [ — dx is?
1+x
(a) itan“1 x* (b) 4tan~lx* (©) Tl;ta“_l (1+x*) (d) 4log(1+x%)

R TG T 1 AT o A 20T 9fd dS §, ol 20y gane
fie & faT @ guis &7 (rpm) =T g

If the recommended cutting speed of mild steel is 20 m/min, what is the rotational speed (rpm)
required for a 20 mm drill bit.

() 320 rpm (b) 1050 rpm (¢) 120 rpm (d 2100 rpm

9 1393 & 1406



45.

46.

47.

48.

49,

50.

Tl et & fov sgwa B dfs & @or L7

The angle of the prick punch used for witness marks is
(a) 90° (b) 60° (© 30° (d) 100°

s vt 3 gt AT ... iR war §

Helix angle in twist drill determines the
(a) 3F9e PI0T/Clearance angle (b) eI HIVI/Rake Angle
(c) TG HIUT/Point angle (d) 3=fA/Inclination

aﬁadﬁm%%vma@wéwmmm?aﬂtwwmzsﬁmam
Fde 39 frgar &

For a turning operation, if the spindle speed is 128 rpm and the diameter of the rod is 25 mm, what
is the cutting speed?

(@ 100 #HeX 9fa A= / m/min (b) 10 HIT 9fd AT / m/min
(¢) 20 ATl AsT / m/min (@) 25 AT 9fd AT / m/min
T Fat AR wfdgor & fAw

For taper turning and boring

(@) 3YFHIOT FI ehe; J AT Ve AT FATAT AT/ The tool should be set below the centre

(b) 3IYMOT I g W IR e fvar JA1 ATTgW/The tool should be set above the centre

(c) 3UHOT FI Sk ehg, W [T Fohr SITAT ATTEW/ The tool should be set exactly at the centre
(d) YT F &g & YT BT FHAT AT TIEW/The tool should be set near to the centre

XY $ AT AT ol ST & T & AT S B AdA H A, o 8l

For tuming lengthy tapers with a small taper angle, the method of taper turning employed is
(a) EorTeie HaeT TedT/offsetting the tailstock
(b) IA T 3T/ form tool plunging
{(c) m Ca) HATAl/swivelling the compound slide
(d) o P TAES T FUr3E TEE A 1 AT
Combination of the lathe cross slide and the compound slide movement
A H 1 F AT ok amae RuE & gear § 9 e wauet @
edies. . gl |

For the same cutting speed larger diameter drills will have rpm compared to smaller

diameter drills.

(a) 3J=Ud¥/Higher (b) HHART/Same

(c) FH/Lesser (d) Etl"':'ljl'ﬁ H A IS 91 T/ None of the above
10 1393 & 1406



51.

52.

53.

54.

55.

e TFY U3 & uredf F ST F FOT.LE

The angle between the flanks in an Acme thread is
(a) 30° (by 29° (¢) 60° (d S5I°

U qET GEAAT F Sgead TueE 001 ey diggEA woww 75 9@
100 RERT aF ¥ RN greTiw 15.50 BT ¥ AR 1097 IEFAET HRATFT R

YR 29 & U g1 qMSAHA ... ¢l

The least count of an outside micro meter is 0.01 mm. The range of the micro meter is 75 to
100 mm. The barrel reading is 15.50 mm and the 10th thimble graduation coincides with the barrel
datum line. The reading is

(@ 15.60 ANHRCYmm (b)  15.06 AHRY/mm
(¢) 15.50 AN mm (@  15.40 FRAHRY/mm

Y Ea 9 H 93 T T ... 3

The form of thread in a saw tooth thread is

(a) TS qeT H 1° o T g@dr 787 3 30° IS
Inclination of 1° on one side and 30° on the other side

(b) T et & 38 3R gud wet 3 30° Hr =T
Inclination of 3° on one side and 30° on the other side

() U GBTH 5o 3R g@dy et 7 60° Hr AT
Inclination of 5° on one side and 60° on the other side

() T geT & 308 3R gEdy et 7 29° dr At

Inclination of 3° on one side and 29° on the other side

TR AT PR AW ... T

The taper in a taper pin reamer is

(@ 205 1/1in20 (b) 50F1/1in50
(€ 75#1/1in75 (d) 1003 1/1in 100

12 ey e § W @ Ag TFE R & 3w e ¥ R I
0.3 fRreieiex 3R HfA3mAT 0.05 B &, at ¥fFer @ wear B wava & fov yaua
F = fahdar gem

A hole is to be made on mild steel with a 12 mm diameter reamer. If the under size is 0.3 mm and if
the oversize is 0.05 mm, what will be the diameter of the drill for drilling the hole before reaming?

() 11.65 RENHTY/mm . @) 1235 ANHIYmm
) 10.70 FASHHRY/mm @  12.05 ASHE/mm
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56.

57.

58.

59.

60.

61.

A wCHSA H1 e 10 ANl Bl WIS F TAAT T5 & HRUR gl 4w
The side of a regular hexagon is 10 mm. What is the across flat to flat of the hexagon?

(a) 17.32 (b) 1732 ) 20 @ 30

aT I & WAIRT 0T B AATTrT ey Y ulRar v o Fed gl

The process of dipping anodized parts in hot water is known as

(a) FEARIA/Calorising (b)  UNE-TYeT/Galvanizing
(c) IferaT/Sealing (d) ﬁagﬁ-ﬁ‘W/E]ectroplating

frrafof@a & & Fia-ar v yFaeT Raus @1 3gror ¥

Which of the following is an example of an inorganic coating?

(a) o RAF/0il painting (b) aIfeRIVamnish
(c) A+ RAS9a/Ceramic coatings (d) TAE FIAT WISHAY/Zinc chromate primer

gerat ® WRrseT qdeTor fatfRor & foe fasar smar

Ultrasonic testing is done in materials to determine

(a) g P A &I gIR/Cracks below the surface
(b) URTHG THLA/Yield strength

(¢) TRHA deid AHATA/Ultimate tensile strength
(d) FARA/Hardness

ER& & d1C 3UeeY FGY FOR TH Terd ..., ¥

The hardest tool material available next to diamond is

(a) FCoNsT/Stellite
(b) FAFAF/Ceramics

(c) HAfrcT FEEs/Cemented Carbide
(d) FYfe NI AFESS/Cubic Boron Nitride

ST9 o il g A R Ve par s, ar

When a tool is set below the centre, the

(2) TG Tt 10T F gFE BT Brtop rake angle increases

() g & For# weddr BIdY 8/top rake angle decreases

(c) TRIE et 0T 7 H$ IRGTA 7€ 8T §top rake angle does not change
(d) R e FIOT FHUTICHF & T /T op rake angle becomes negative.
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62.

63.

64.

65.

66.

67.

wzﬂquw&uﬂm400nmm2%|mwmﬁ?ammm

A sphere has a surface area of 400n mm?. What is the diameter?

(@ 10 FANARY/mm () 20 IR/ mm
(c) S FeARY/mm ) 100 FHRY/mm

WO AU F & T TFFA TAUT ..o FTEIT &
The type of drill used for general purpose drilling work is

(a) HY9sR/Type H (b) NYHR/TypeN
(c) SHBR/TypeS (d) F9dUTypeF

mmﬁméﬁ(z,s),mwwmﬁg(m)ta’rqa'taiwﬁgarﬁa‘%ﬁm
. g

If centre of a circle is (2, 3), one end point of a diameter is (3, 2}, then the coordinate of the other
end point is

(@ 1,-1) () LD © 04 @ ¢7.-8)

A lathe dog is used for

(a) Fei & & ad= & R FT T folT/Driving the work during turning between centres
(b) a5 ¥ Sl Srafafey Frat & gEdes fAw/Supporting long jobs during turning

(c) T ¥ NI T s 3TaI0T & §9 H/As a cutting tool during turning

(d) @ 4RO forw/Holding the job

IR TF ST Aeh T W AET AW 6 Fex AR P 1 A €, @ o

Y3t Fr AAEaad == g

If the major diameter of an ISO metric thread is 6 mm and the pitch is Imm the recommended tap
drill diameter is

(@ 5 AAHARCYmm (b) 6 FAAHITYmm
(c) 4 A/ mm @ 7 AT mm

............ *x A% YAYA @ 9F ST § S vauA A a% & @iy A e @ ¢
The part of the taper shank drill which fits into the slot of the drilling machine spindle is called

(a) fTag/Point (b) H/Shank (¢) &W/Tang (d Fz/Body
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68.

69.

70.

71.

72.

73.

74,

daré i THAYRT ...

SI unit of length
(a) fAeliHY/Millimetre (b) fFAEEY/Kilometre
(c) HTI/Metre (d) HEHTY/Centimetre

SN ST & T HCTIHE ... &

Least count of an Engineer’s steel rule is

(a) 1 TAUH/mm (b) OSTATA/mm (c¢) O.1UTATA/mm (d) 0.01 THUHA/mm

g 3T F AT e L8
Specific gravity of mild steel

@ S (b) 2.7 € 78 @ 1

g F guTd AR HEg F Ao B ATAM....... F FROT §
Ability of a metal to withstand shock and impact

(@) 3-1?11?!T/Brittleness (b) THAAAUT oughness
(c) FoORdl/Hardness (d) T=gA/Ductility

U YR 3¢9 aue e & foig #ior ... §)
The point angle in a general purpose drill bit is

(a) 108° (b) 118° (c) 90° (d 60°
QU YR H AU T T H e & wIfte five fove are )

Drill chucks are fitted on the drilling machine spindle by means of

(a) TG ERWArbor (b)  HUAE/Drift

(c) o3 FE/Knurled ring (d) 9T g Tl/Pinion and key

PR S A MI2 x 1.25 Af@fRT fmar aram &, & 1.25...... # Rfdse #=ar &)
If a thread is designated as M12 x 1.25, 1.25 designates the

(a) ?{ﬁ' & Sarf/Diameter of the thread

(b) I % M=/Pitch of the thread

(c) i@' & @hITT/Angle of the thread

(d) El:s‘T Fea dIRsTEFaTH {vﬂ'/ Distance between crest and root of the thread
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75.

76.

77.

78,

79.

80.

ﬂﬁﬂgﬁ%ﬁﬁ{ﬁﬁﬁﬂﬂﬁ#ﬁvﬂﬁam .......... Ly

The instrument used to check the gap between mating parts

(a) T3SAT AS/Radius gauge (b) TEIYE A/ Feeler gauge
(c) TreiT IS/Fillet gauge (d) A% AS/Drill gauge

FdeT ¥ e 9erY F W Fod HR F Tod 6 AT B . FeT Sdm &l

The speed at which the cutting edge passes over the material while cutting is known as

(a) ael a91/Cutting speed (b) IUTSI/Feed rate
(c) YU da/Rotational speed (d) AMT d9/Machine speed

m#qﬂﬂﬂaﬁ'ﬁaﬂagﬁgmmﬂaapmwémﬁmm

The process of enlarging and finishing previously drilled holes to accurate sizes using a multipoint
cutting tool is

(a) UISEO/Boring (b) gfY Gf&¢0T/Counter boring
() e @)/ Tapping (d) [BEaU=/Reaming

The thread angle of a metric thread is
(@ 90° (b) 60° () 30° (@ 120°

aET T ¥ Fo & A0 TYFA IGROT H..... e S

The tool used to cut external threads is known as
(@) <¢9/Tap (b) 2/Die
(¢) et fae/Drill bit (@ 9Rf>gH/Reamer

et F AT qag AfFT EI AT T -y
The shank of a hand tap has three rings marked on. Then itis a

(a) WUH &q/First Tap (b) 3TN ¢9/Bottoming Tap
(¢) <UX &/Taper Tap (d) ALYl ¢9/Intermediate Tap
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%= #1d % fog 3y / Space for rough work
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